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run_13049059 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1CD
Sat Feb 18 13:30:01 2012
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run_13049059 FGT_RMS 1,Timebin=2,Disc=1,asmb=1CD
Sat Feb 18 13:30:47 2012
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run_13049059 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
Sat Feb 18 13:26:03 2012
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run_13049059 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1CD
Sat Feb 18 13:30:02 2012
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run_13049059 FGT_RMS 1,Timebin=2,Disc=1,asmb=1CD
Sat Feb 18 13:30:48 2012
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run_13049059 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC
Sat Feb 18 13:26:29 2012
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run_13049059 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Sat Feb 18 13:30:50 2012
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run_13049059 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC

Sat Feb 18 13:26:31 2012
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run_13049059 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
Sat Feb 18 13:30:04 2012
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run_13049059 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Sat Feb 18 13:30:50 2012
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run_13049059 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
Sat Feb 18 13:26:56 2012
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run_13049059 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2CD
Sat Feb 18 13:30:05 2012
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run_13049059 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
Sat Feb 18 13:30:51 2012
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run_13049059 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
Sat Feb 18 13:27:01 2012
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run_13049059 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2CD
Sat Feb 18 13:30:06 2012
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run_13049059 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
Sat Feb 18 13:30:51 2012
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run_13049059 FGT_ADC _1,Timebin=2,Disc=3,asmb=3BC

Sat Feb 18 13:27:02 2012
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run_13049059 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3BC
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run_13049059 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Sat Feb 18 13:30:51 2012
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run_13049059 FGT_ADC _1,Timebin=2,Disc=3,asmb=3BC
Sat Feb 18 13:27:26 2012
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run_13049059 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Sat Feb 18 13:30:53 2012
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run_13049059 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD
Sat Feb 18 13:27:33 2012
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run_13049059 FGT MPV_1,Timebin=2,Disc=3,asmb=3CD
Sat Feb 18 13:30:07 2012
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run_13049059 FGT RMS 1,Timebin=2,Disc=3,asmb=3CD
Sat Feb 18 13:30:53 2012
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run_13049059 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD
Sat Feb 18 13:27:53 2012
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run_13049059 FGT MPV_1,Timebin=2,Disc=3,asmb=3CD
Sat Feb 18 13:30:09 2012
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run_13049059 FGT RMS 1,Timebin=2,Disc=3,asmb=3CD
Sat Feb 18 13:30:54 2012
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run_13049059 FGT_ADC 1,Timebin=2,Disc=4,asmb=4BC

Sat Feb 18 13:28:07 2012
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run_13049059 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Sat Feb 18 13:30:10 2012
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run_13049059 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Sat Feb 18 13:30:55 2012
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run_13049059 FGT_ADC 1,Timebin=2,Disc=4,asmb=4BC

Sat Feb 18 13:28:23 2012
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run_13049059 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Sat Feb 18 13:30:11 2012
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run_13049059 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD
Sat Feb 18 13:28:46 2012
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run_13049059 FGT RMS 1, Timebin=2,Disc=4,asmb=4CD
Sat Feb 18 13:30:58 2012
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Sat Feb 18 13:30:13 2012
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run_13049059 FGT RMS 1, Timebin=2,Disc=4,asmb=4CD
Sat Feb 18 13:30:58 2012
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run_13049059 FGT_ADC 1,Timebin=2,Disc=5,asmb=5BC
Sat Feb 18 13:29:10 2012
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run_13049059 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Sat Feb 18 13:30:59 2012
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run_13049059 FGT_ADC 1,Timebin=2,Disc=5,asmb=5BC

Sat Feb 18 13:29:12 2012
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run_13049059 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Sat Feb 18 13:30:59 2012
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run_13049059 FGT_ADC 1,Timebin=2,Disc=5,asmb=5CD
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